
Glen.Spears
GlennSign



Line Item 
Summary

PageTitleDocument Number 1 3 2

$25,491.51Total Funding:

DTMA2P09048/0001 SOM MAIN ENG PARTS 01 May 09 2 of 3

           
Fund Budget Org Sub Object Class Sub Program Cost Org Sub Sub Reporting CategoryProj/Job No.

 

FYs
 

  
Closed FYs Cancelled Fund

Line Item
Number Description

Delivery Date

Total CostQuantity
Unit of
Issue Unit Price

Division
  

(Start date to End date)

$0.00 $0.00

Change in Performance Period
Procure the following parts in accordance with the attached 4 quotations:

Quote dated Jan 20, 2009
6 Transition Pieces Part #243210002
6 Bends Part #243210003
12 Gaskets Part #243210062
12 Gaskets Part #243110028
12 Gaskets Part #243210061
12 Gaskets Part #967073731
12 O-rings Part #967082095

Quote dated Jan 22, 2009
1 Fuel Injection Pump Part# 1.3597 SS

Quote dated Jan 23, 2009
3 Joint Rings Part #A26x31
3 Joint Rings Part #A16x22
3 Control Racks Part #1.3597-411
3 O-rings Part #1.3597-413
3 Control Sleeves Part #1.3597-414
3 Plunger Springs Part #1.3597-417
3 Circlips Part #1.0061-245
3 Joint Rings Part # 1.7010-218
3 Joint Rings Part #1.7010-270
3 Joint Rings Part #1.7010-064
3 O-rings Part #1.3597-554

Quote dated Feb 13, 2009
1 Taper Pin Part#8.2104-41
2 Washer Part #8.2104-42
2 Hex Nut Part #M24 DIN 934
2 Spring Washer Part #A24 DIN 128
6 Washer Part #8.2104-43
12 Pipe Clamp Part #9 DIN 1592
25 Joint Ring Part #A33x39
6 Banjo Plug Part #8.2104-34
6 Banjo Plug Part #8.2104-31
6 Clamp 1.2104-33
24 Cap Screw Part #M12x40DIN96
12 Thrust Piece Part #8.8525-57
12 O-Ring Part #20,3x2,472NBRO-ring
6 Clamp Part #1.8525-56
6 Bracket Part #8.8525-2
12 Hex Bolt Part #M10x90 8.8

0001 PROCURE PARTS 0.00 LOT03/15/2009 

(01/20/2009 to 04/30/2009)

Ref Req No: PRSAR090233/0001



Line Item 
Summary

PageTitleDocument Number 1 3 2

$25,491.51Total Funding:

DTMA2P09048/0001 SOM MAIN ENG PARTS 01 May 09 3 of 3

           
Fund Budget Org Sub Object Class Sub Program Cost Org Sub Sub Reporting CategoryProj/Job No.

 

FYs
 

  
Closed FYs Cancelled Fund

Line Item
Number Description

Delivery Date

Total CostQuantity
Unit of
Issue Unit Price

Division
  

(Start date to End date)

$826.20 $826.20

Change in Performance Period, Funding, Unit Price
Deliver all parts to the TS State of Maine, Maine Maritime Academy, Castine, ME 04420 free of any additional shipping fees,
handling fees, customs fees, taxes etc.  Payment to Atlantic Caterpillar will be for actual fees incurred to Atlantic Caterpillar but
shall not exceed $600 US dollars.

0002 DELIVER PARTS 0.00 NTE03/15/2009 

(01/20/2009 to 04/30/2009)

Ref Req No: PRSAR090233/0001

Funding Information:
2009 -   - X1750 - SMR 120 - SM - B107 - 0 - 0000 - 160000 -
-   -   -   - 25711 - 6100 - 6600 -
826.20

$25,491.51

$826.20

$24,665.31Previous Total:
Modification Total:

Grand Total:
(Includes Discounts)




